I ) O | 3D (I ) O | =
2SS |E8|8 |8k
= ||~ — | o o (=
Slolw|aE2 83 o
D T > (> = ©
= |83 |2 o |2]l2| & |l o
— 2= |s ¢ a | S = ™.
=- | < O
2|2 | =|2E|= |=| | © S =
=2 = _
% =1 = § § < I A e
> . = o O (—E e —
S | = 2l = | 3 = = N
2|3 = < S <
- = O
=Sy O ~~
S | & > -
=|% S
~ = 8 Kol_Il-2, rzedna dna 4,79 X=3405001,53
8 m - 1,75 4,75 6,50 g kg200_rz 0ci=410 Nk Przykanalik_Il-2—2-1, DN130, Rz.dna=4,77 Y=6064294,07
== o LWN. gt.osi=0,60 < SRE
1,00 £ 201419 1693 | ' X=3404997,71
— Przykanalik_Il-2a-5, DN150, Rz.dna=4,79 Y=6064299,93
o Przykanalik_ll-2a—6, DN150, Rz.dna=4,79
=
(@]
o
24 81 1t, gt.0si=0,60
E:
A l.osi=1
3088 | O 158|486 |64 | S [ gos=l0 X-3404973,91
e (—)‘ Przykanalik_Il-2a—4, DN150, Rz.dna=4,86 Y=6064298,01
N
@)
) >
= A
43,69 INN, ql.0si=0,60 b —
46,49 1,39 (491 630 | o [9A%2 ghosi=1,20 X=3404958,34
a Przykanalik_Il-2a—-3, DN150, Rz.dna=4,91 Y=6064296,73
N ]
=
~
61,15 o i 495 16,16 Przykonalik_ll-20-2, rzgdna dna 4,95
= - qA32, gt.osi=1,00 L3
67,54 N ~11,131497 |60 | S |Praskanolik_li-20-1, rzgdna dno 49 X=3404937 37
= — Y=6064295,01
™ U
@)
o
™,
e
— ~
=
20 Q ©
. |
| =) o8
O
= o
= z S
O » -
~ 8 Kol_ll, DN300, Rz.dna=3,66 X=3404888,33
2&5 I 172464 636 | |qa00, ghosi=1,00 i Kol_ll, DN300, Rz.dna=3,66 Y=6064280,52
o> |L MR N
&S )
9,10 168469 1637 | = X=3404886,06
— g Da Przykanalik_ll-b—4, DN150, Rz.dna=4,69 Y=6064289,33
13,88 3 qA32, gtosi=1,00 :
17,07 L 473 16,39 Przykanalik_Il-b-3, rzedna dna 4,73
U
Z &
(N =
O (@]
30,19 O “;_ 479 16,42 Przykanalik_Il-b-2, rzedna dna 4,79
3493 gA32, gtosi=1,00
T N
o &
(e 01
48,63 S 159488 |647 | & X=3404846,74
g Przykanalik_Ill-b—1, DN150, Rz.dna=4,88 Y=6064285,22
U
O
o
™,
o
— ~
~
U Q o
. |
! 3 - )
= >
O % S
O o ')
~ O - X=3404815,20
= — 2490436 1685 |2 ‘ Kol_Il, DN300, Rz.dna=3,50 Y=6064221,96
(@]
9,92 & 11, gt.osi=0,60 )
S qA63, gl.osi=1,00 | -
~N
N
18,93 x INN, ql.osi=0,60 ,
O T
21,62 1NN, qt.0si=0,60 —
INN, gt.osi=0,60 /
S
o -
33,80 223|464 |687 | & s X=3404813,17
-~ 0 ' Y=6064255,70
37,99 o| [222(467 [689 8 -| l % X=3404809,67
g « Y=6064257,99
O
N
O
O
NS
NO
51,91 N wASQ, ql.osi=1,10 )
60,91 1811486 6,67 W gA90, gl0si=1.00 ——mmaic + Kol_V, DN300, Rz.dna=4,86 X=3404808,07
on o |wAN0, ghosi=1,10 SYOT & Y=6064280,85
o
66,81 S 11,69]491 6,60 8 \ <L\ X=3404813,83
72|85 Q- |1NN, gl.osi=0,60 f
! . INN, ql.osi=0,60 /
= 1WN, gt.osi=0,60
78,87 ST qA32, gt.osi=1,10 1L
o o '
800 |o | 1450505 [650 | i X=3404830,91
Z & o > T 7 Y=6064284,06
O ] =8 wA110, gt.osi=1,10
9007 [ (21T 1221508 [630 | x PMgres=te8 t X=3404830,80
(@) @ Y=6064290,13
. 29 2% o 2 W@ — <
T 53 S3ls | | 3 & > | R L =S
s RE| |RE 2| 5] 7| 8F | | T
n ! cSlw | 3| % > S
s | T2 2] ¢ 2O ? =
S c i 0 996 - ' %
g x N E [ S = p 2
= g - > m [$X] o
=8 o8 N O
1 =3 W 8
o 21 0 ©OQ0
ez |22 e = ~ 2
S S5 8| 2| €£Z P T g
3 |2|: 5§ 2= S 2 > 2
< vz | <] 8 Z2
= 2|9 | 2 M=o o
g8 2| ¥ S sl @m -
a 7|3 3 5 O X2 =
° 2 : S = B g °
S g8 % ? L€ Dz. rurociggu w 0,11-0,5m =
2 c Bz = NG s |7 128 2 08-20 °
i SRR I
i
a1 =2 2l 8g =
N . g 3

PDF created with pdfFactory trial version www.pdffactory.com



http://www.pdffactory.com

